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Q1. Select the set of numbers that is similar to the
following set of numbers.

<
{12,30,61} (a){8,21,45} <
| Q . _— ___(b){18 45,91}
@ 30, o 2X2 =Y 4\ (C){6,15 30}
| ' = | (d){14, 35 ,72}
= s (9%2 = 238+9
= =3
3s R 2 < 6ol Uc k2 = 90
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Q2. _I_R_i_tg_;oldMani, "The girl | met yesterday at the beach was the youngest
daughter of the brother-in-law of my friend's mother." How is the girl related to

Rita's friend ? 1T o q gl, "&d 9 d5h @ # Ag de W A
ft, 97 A ET A A F W A FE@ S 3@ A" TP a1 F B
¥ 59 UPR Faftd &2 oaC T .
e () CP*G“Q A) [Cousin))

B) Daughter

|
@ fa am (D ) Niece

D) Friend




Q3. From point T, Wegue started walking in south direction. She walked for 4 m and took a
right turn. Next she walked 5 m and turned to her left. Next she walked for 3 m and turned to
her right. Next she walked 4 m and turned to her right again. Next she walked 15 m and turned
to her right again and stopped at point K after walking 7 m. Find distance TK. < T #, Wegue

gfaror fem Il 4 FaT 3l 9% 4 Hew el 3 gt 3T A 91¢ 98 5
mwmmmmmmmwamwaﬁzmmm

S °

I 3HSF 91¢ 98 4 HeX Telt 3T 6T & arfeelt 3T 7 39F aC g8 15 Hex
Tell 3 T F arfest 3R 7 3R 7 maaaﬁﬂ:mﬁgxwwwéla;&m

e | ag= 15%4 2"
T T - 21644 (1) 2v22

5M L
AV R -3 (2) 2v19
| | o IS (3) 3v21
¢! ;Q v _(4) NoT
/L' — 2. Kk’
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Q4. In a certain code language, 'PERMIT' is written as 'VVLNOG'.‘How will
'INERTIA' be written in that language? T& faad s HTNT &, 'PERMIT
FY 'VVLNOG' for@r simar ¥1 33 ST & INERTIA' HF @ STwen?

6 & 18139 2 -
Pe KM T T NER TI/A
S N 3 W5 1B ag

vV LN OG 6 of -6 oP-l'So

22 22 (2 v Is + O@

+6 of —6 of. +6 of.

(Jiatean) = 1. XYOHBCU

T ———_'2.0MYIZRU
3. OHYXZCU
4. XOYHCZU




Q5.Select the number from among the given options that can replace
the question mark (?) in the following series. f&T 1T fQFeal 7 &

a8 §&dT a0 St fAfaf@d sf@en & yesars Reg (?) A
gREnRa FT ¥ (%

27,30, 37, 50,7, 98 ) @ O (%

o~ —
F3 T 413 4y C) O @
1. 82
: 2.69
Je Psithne No T
aptestneb ; 3.62
oda- 4.78

C
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Q6. Select the set of numbers that is similar to the

following set of numbers. - 5{

{24,10,392} 24 _ —~ (ql. l9£ X2 {39 ){27:15;480}/1.
L. \9 “( ) Stb){21,18 234} (15

— (e){29,18,242),

2
G ’.‘5) - G 1) = 14y —_(d){26,12 369}

S 480 234 T4




Q7. From point T, Wegue started walking in south direction. She walked for 4 m and took a
right turn. Next she walked 5 m and turned to her left. Next she walked for 3 m and turned to
her right. Next she walked 4 m and turned to her right again. Next she walked 15 m and turned
to her right again and stopped at point K after walking 7 m. Find distance TK. < T #, Wegue

gfaror fem Il 4 FaT 3l 9% 4 Hew el 3 gt 3T A 91¢ 98 5
#ﬁﬂ*aﬁrﬁh:aqﬁtaéwmnamalsaﬁ:aﬁragzs#ﬁﬂﬂaﬁrﬁh:mqﬁTaﬁﬁmwmn

AN 3qF 16 a8 4 M T AR AR F GRA 3R 72 39F 7€ 7@ 15 AR

ggaﬁtﬁw#alﬁ?ﬁmgﬁraﬁt maaaﬁﬂ:mﬁgxwwwén;&m
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(1) 2v22

(2) 2v19

(3) 3v21

(4) NOT




Q8. If 'A S B' means 'A is brother of B', 'A @ B'means 'A is wife of B', 'A # B' means 'A is
daughter of B' and 'A & B'means 'A is father of B', then which of the following expressions
indicates the relationship 'K' is father-in-law of H'? If¢ ‘A $ B' T T g ‘A B &I qTS %",
‘A@B FTHTETABFracnt &, ‘A #8 &1 33T E A B FHrad & 3ia 3tk
w1 3T ¢ ' A BFHT Rar g, af Aafa@a & ¥ =i a1 sma 'k, Ha?rw%‘avm

e ) L
> boine =
wife P cd) H@J$L#S
S: dowy hiest @-(-@F@ B)H@JSP#K
— ¢)H@JSLH#K&P
fuen .
5 @ D)H@P$J&THK

= 3

Iy




Q9. In a family, there are six members A, B, C, D, E and F.

A and B are a married couple, A being the male member. D is the only son of C, who is the
brother of A. E is the sisteT of D. B is the daughter-in-law of F, whose husband has died.

How many male members are there in the family ? T& 9RaR " o¢ da¥d A,B,C, D, E R
FR1T 3R &f ow Rarfea I3 8, ¢ g9 @eET 81 D, CFH SHalar 47 8, S AFHT o1
gl E, DT & §l B,FH % ﬁ'&%ﬁaﬁrﬂ—aa‘rﬂé%l

TRER # frda 9 de& T

@
218 +(®
| ' @‘/’ (1)-2v
-6 e

(4) NOT

19

p—




Q10. Study the given pattern carefully and select the number that can replace the question
mark (?) init. BT T Yoo &1 LAEYdS AT S 3 39 T&IT HT IIT HYL T
sTH geeATE Rred (7) # yEeaiig & a9

.16 _.(W'"?") A 2] — (12%2‘)

g 1416[13] 2 ¢
@:f@ws 18 6 B (R
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Q11. At a party, the number of girls is half the number of boys. After an
hour, five boys leave the party and three girls join the party. Now the
number of both becomes equal in the party. How many people were
there at the party an hour before? T 9l # sfhal HI &
Sl &1 TEIT § e g1 Th g & 91G, qﬁragﬂ:tnﬁaﬁg
ﬁ%aﬁtmﬂmqﬁﬁamaaﬁr%lm H
axAT T TEAT gl STt §. U 5! gl A

q? (a@!o(c)m d@ V (Geedd)
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